Graph this square root function . A Graph this square root function

y=2Jx+3 -5 ‘ y=-3Jx-1+3 .

Starting Point:

Starting Point:

3left, 5 down  (-3,-5)

1right,3up  (1,3)

2 times taller

T T — 3 times taller, upside down

Graph this square root function . A Graph this sauare root function

y=2/-(x-3) -2 6 Y= =l J=(F-F2) -0

g

Starting Point: S

\ Starting Point: /
5 right, 2 down (5,-2) o 2 left, 6 up (-2,6)

2 times taller, backwards \a\ - 4 times taller, upside down,

X backwards




Write the equation of this

function
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Write the equation

of this function
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Domain and Range of Square Root Functions: State the Domain and Range of the following

Square Root Functions.

1. y= Jx +7
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not negative so y
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